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% —/E Problem #1 (20pt) & M5 Yoruba

LUR 2 — S0 B B EE R, T A B~/ MR &R 100:
Below are some mathematical expressions written in Yoruba. All numbers are less than or
equal to 100:

maruun + metadinlogun = mejilelogun 5+17=22
merinlaa x meta = mejilelogoji 14x3=42
metadinlogoji x meji = merinlelaadorin 37x2=74
merin ™ = merindinlogun 4%=16

meji + mokondinlaadota= mokonlelaadota 2+49=51
aadota - metalaa = metadinlogoji 50-13=37

1. (8pt) &l LABTHEAH B 55 LU T ey (48 247) -

Write down the following numbers in Arabic numerals: (2pts each)

60 ogota

21 mokonlelogun
75 maruundinlogorin
4 merin

2. (12pt) ALV E EFEE L T 8T (F452.457)
Write down the following numbers in Yoruba: (2.4pts each)

4 merin
12 mejilaa
80 ogorin
86 merindinlaadoruun
95 maruundinlogoruun




% & Problem #2 (20 pt) Ef2iE7E Kusunda

1. (1opt) FEBEH H 3L /F 3L Give the Chinese/English for:

a. tsiagaida gomdak ez m s
They will eat my dog.

b. ginayi gimi tombagan b AP 25 HE T A R B
They sent his money.

—A]5%y, A& —{@morphemefF2.5%>

2. (10pt) #JE FEYA) -EIRE A Kusundai : (F:6)2.557)

(1) R% T HEMIES T /You(sg.) slept in order to die.
oc‘da nipan
(2) fth & B f5-&18 ) 2 /He will fetch roasted meat.
habdi amba gidu
(3) FrEF A FKAIZE T /T will cook my leaf.
tsihaq hulodu
(4) IRAM & 2 7 25 HHUIR A& T %At B 9% /You(pl.) will make him fall in order to send a
friend.

gimtsida tomboda bemonok

Bien (F ) otk — ) 25150, HE2¥H51), fajdkas

157 1.577
oc'da / nipan
habdi amba / gidu
tsihaq / huladu

gimtsida tomboda  / bemonok



A B

B FEA AT UL ) B R A
Class 1: A& IIAE A dd Class I1: AFBANTER 17
(FAAR LLEE & B ER) (FAAR DL 75 BHEA)
HAES ik N -G AR -on FAAR - A Fi-n
B8k N FE-FA AR -da-n B AR - A\ F-on
ARk kiR N AR -du AR - A fE-u
B8 N -G AR -da-k FAAR - AR -ok
ANF5: F& t(Class I) / d(Class II)
K n
ftt g
FAIAR -
Class 1 Class II
B -065- 5 HY tombe-
e -ip- 7 ora-
A -u- 1% habo-
A -i- 7 BRPX bemo-
"7 -om- B hora-
HIE -uk- (& hulo-)

FEY SOV, AR GATES Fl Al iE

FHUX tsi-X

iy X ginayi X

K EhFil(e.g. bemo-, tombo-)i4% 5 52 5l B Rt 52wl e [ i)

Z5 T ...(“purposive”): B & G AR 4 i JN-da

B A T 2w < R AR -di, A0SR FAAR LLof B 2 4 (e.g. bem-di, hul-di)

~~~~~~~~~~ FE(CLT B AR R M ) e
1L HEEEFE S Aol E/ARAG, g 2 BB 384 (Realis)/ A & BB 48 2E (Irrealis) ) 22 71

2. bemo-(FE..BE %, M WEhial) &K H bem-(B87%, R & EhF) N _Lon-da(fi)i i a-t-n, PTLAE AR
b _Erg-diE N Ebem-_F M R & bemo-
3.EVM%ZEE NN E-da, HE-dase S AR RD, (H2A A M4 Sl A 2 st e )



5=/ Problem #3 (20pt) EFIFE Maori

1. (8pt) ——Rl¥fz (f£ T REALT):

Determine the correct correspondences (Fill in the numbers in the following table).

A B C D E I3 G H
1 15 9 4 16 5 14 12
I J K L M N 0] P
11 10 6 8 7 3 13 2

—{#%&%20.5%5 (+0.5 pt for every correct correspondence)

2. (4pt)

#55 H o S0/ Give the Chinese/English for:

a. konutea puhaumaota

SAL$¥% / zine chloride

b. hauota haora-rua

SR / nitrogen dioxide

c. konurehu pakawa waro

fixl%#7 / potassium carbonate

d. haumaota rehu

Z R / chlorine gas

a. konukura

#i / copper

3. (4pt) JJE T Ay SCal S SO R BRI RS -

Translate the following Chinese or English into Maori :

1B English EFIFE Maori
1 # potassium konurehu
2 o] metal konu
3 TR 5 calcium nitrate konupuma pakawa ota
4 JK R be grey in color puma
5 gD be yellow in color kowhai




4. (4pt) ——H¥f 2 (FE TREABT)

Determine the correct correspondences. (Fill in the numbers in the following table.)

A B C

D

E

25 24 21

R3

22

2,3 4B F#%0.87, ¥ F#44y (For question 2,3, and 4, each answer worths 0.8 pt and no

partial credit is given.)

ait B

TRIGE Ko e salle)fv: A B
i E : BA

(A% : BFFE SRS 2 4 rehu)

A
Maori Hh 3L English fiiiiE / Comments
waro fix carbon
hauwai & hydrogen | hau (%% / gas) | -wai (K / water)
hauota R nitrogen -ota (ZE / raw)
haukowhai | %l fluorine -kowhai (F A1 / yellow)
haumaota | & chlorine -maota (K AHY / greenish)
konurehu #F potassium | konu- -rehu (J#%% / spray, fine dust)
(%)% / Metal)
konutai g sodium -tai (/i / sea)
konupiima | #5 calcium -pima (JK Al / grey)
konukura | & copper -kura GELEAFY / red)
konutea 2t zinc -tea (41 / white)




B

Maori Hh L English fifisE / Comments
ptikowhai A b- fluoride pti + kdwhai
puhaumaota F- chloride pu + haumaota
waiha DEA- | hydroxide

pakawa ota i P nitrate

pakawa waro Tz - carbonate

haora-tahi —%{t- | monoxide | tahi: — /one
haora-rua —Ffb- | dioxide rua: ./ two

AE AR BA SRR VR A S IR RE AR I ARZE, RS A L 22 8 4 5 (A0 - & 51
MREET) 5,



FIU#E Problem #4 (20pt) 5%k wfiss Kaqchikel

1. (10pt) FHES HIH 3/ 953 : Give the Chinese/English for:
A TR TR, GE L I LLFE IR, If there are emphasized words, please circle them out.

o f AP &L T At
a. xkito They helped it.
, A AR T
b. xetzu’ woma They were watched by me.
. e 3 T
It was seen.
L inkel el
’ I put it away. (present)
o MR EEFRAM
e. nmolon qichin It gathers us,
2. (10pt) BHE FEERAAHEIE
Correct the mistakes in the sentences:
Prina ] :
) E1E P— English
Sentqnces with Correct sentences O Translation
mistakes
ye'kitz'et yekitz’ét fffE 2 | They see them.
xixito’ yixinto’ FE R I help y’all.
yaiti’ yinati’ PREFR You bite me.
xrub’il qoma xb’al qoma g FAMELE T | It was made by us.
yto’ kichin nto’on kichin 0B A It helps them.
&5t B4
Hfy el

[ECR ) BRp ] - ARl B- AR Al FR A - Gl AR




BV Z/E IRzt
Hemha): IREfE- AR FEB-Bh s AR (+ AFREif%A-oma i)
@A AR B A A, 6,1, 0, UK, e, i, o,u
AR EN ) R - N TR B-Bh s iR (+ AFRFf%A-ichin &5 FH)
Al RaAR L5474, 6,1, 0, WiESERKa, e, 1, o,u; HENFE# I _[-on
LI HE 2% SR 1) - F i

IRFFAR &
y-BFER A FRFARRB A 5 — A2 Hn-
x-:m £

NFEFAFRA: Ergative(1E#8): AL M W Bh i A EN R /4 2

AR B: Absolutive(GE#): £ M M Eh a2 B ERY £ (s A K B Al (A D
TERIA

N Brili#&-C BFil#&-V AGHliR-C AFFR-V
1 sgl. i in in inw/w*
2 sgl. a at a aw
3 sgl. @ ru r
1plr. 0j qa q
2 plr. ix i iw
3 plr. e e ki k

*ME— BN RIS b, UHAEA A (A-oma /ichin) il



% HE Problem #5 (20pt) B 5 #1fE7E Okanagan

1. (6pt) T 13 A ST AT, BEZNEM /& M RFRER) 4351, e B LD RO EHAC
¥, (#1757, ¥ 5 LU TANEED)
Below are thirteen English sentences, determine the correct correspondences. The
distinction between he/it and different tenses are to be ignored: (1pt per blank, no points if

no more than 5 are correct)

3¢ /English FEEHR %R/ Sentence No.
a. fthFEEfth F . /He sees himself 3
b. fR#k%IE /You find it out 2
c. fhiZHEH] /He got smart 10
d. ffRHEH]/He is smart 9
e. fthiE#}4/He got fat 4
f. ‘E1R4F/Itis good 8
g. fhZ4E/He is healing 7
h. K E/You blow it 13
i FBkEI'E L /T jump on it 1
j. VRE5EM/You question him 5
k. {REIR B . /You kick yourself 6
1. FAHJETERKEE/T dance all the time 11
m. {RIESE/ER]/You ask all the time 12




2. (6pt) A I EMERTEAIHAZAE ) a B £ (B4 1 47),
Fill the a-f in the table above with the correct forms (1pt per blank).

i e BT JEETE

No. Surface form Underlying form
1 ktoragontin k-targ-n-t-(i)n

2 kowikontx™ k-wik-n-t-(1)x%

3 waokancut wik-n-t-sat

4 q“octwilx qrac-t-wilx

5 sowasiwantx™ a. SW-Siw-n-t-(i)xw
6 kv toragancut b. kv tar'g-n-t-sut
7 c. xstwilx xas-t-wilx

8 xast xas-t

9 d. pxpaxt px-pax-t

10 pxpxtwilx €. px-pax-t-wilx
11 kon torogmimoan kn targ-m-imn

12 f. kw sewamiman k¥ siw-m-imn

13

px“ontix"

puxv-n-t-(1)x"

3. (4pt) IFIE T RO A RIEE R AR EE (R3 3R IE T LRI T (B A1159),

Translate the sentences into Okanagan (Only the surface form is needed) (1 pt per sentence).

SESERBRA—MAIL, AoRFARHERBRATENS,

(1) {REfh/You kick him.

tafg-n-t-(i)xw  — taraqentixw
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(2) FHF& B /1 ask myself.

kn siw-n-t-sit — ken sawancut

(3) ¥R1RfE/You are fat.

kw dwiic-t — kw gwact

(4) FeHBJE1E £ & /1 think all the time.

kn pax-m-imn — kan pxmiman

4. (4pt) BRE AR EEZ AN(r IR E B T AL — 8 5 8 _L Ry 2 S ARRE,
Explain how Okanagan decides which syllable the stress falls on.

rootd 7 g :
stress-retentive (EBRXBEEFH)
stress-shifting((EB R X ZEEFH)
suffixE 7 =#&:
inherently stressed (EE, X B ESFH])
variably stressed (EER X B G, EERBITHMI LA
unstressed GE ERIIF R 22 B E#)
AR EEFH AR Z inherently stressed suffix > stress-retentive root > variably stressed
suffix > stress-shifting root

**5;:‘%2‘**

RARHERLH REAHRGRMEES . HIINU TR ERES4S:

IR AEESERENRTE EERAREE—BEREENEHARES, MRANVEME
rARE—FH]

an B
* % %k %

H %R 8l
EERAEERERR:
SEREEF
BRREENBE 2K
Zifo
RifokIFR A :
C=HBELHNFE.R=EFT(BELHNESZTERER).C=FAFE.V=-BF. #=8F
ZR
BIE U TIRE T & fe:
c C



C_R[CH#]
#R_C (FRAEEEthREfERE)
k_w (FA%EEE thaefEE)

#:

meimn RREEE, WEARIE]
t RTHRE
twil FRRAEEHE, WBAIE
Nt FRRY, REEE

(n EARE

iy EFRIR

st RE TARTRMEHA

HIER (HEBANER):
EfrootIFE - MEER(BE - BA. B - &)
k- — directive (B0 LA M) (B — Bt E£. BE — %)

TRMERS:
kn ¥
kw fR
&/ /e



